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2  number caught per day. Type of problem ( output/input)
	
	Deer
	Antelope

	Henry
	4    ( 6/4=1.5)
	6     (4/6=.67)

	John
	24   (12/24=.5)                   A
	12    ( 24/12=2)                A



3. Days to produce one unit of each. Type of problem ( output/input)
	
	Cars
	Planes

	XYZ Corp
	8      ( 8/10=.8)                A
	10        (10/8=1.25)             A

	QKFX Corp
	15     ( 15/12=1.25)
	12         ( 12/15=.8)



4 Acres to produce 100 bushels. Type of problem ( output/input)
	
	Corn
	Rice

	India
	9         ( 9/3= 3)
	3        ( 3/9=.33)

	China
	8          ( 8/2= 4)                    A
	2        ( 2/8= .25)                   A



5. To produce the following from one ton of olives. Type of problem ( output/input)
	
	Cans of Olives
	Bottles of Olive Oil

	Zaire
	60   (  10/60=.166)     A
	10   (60/10= 6)     A

	Colombia
	24    (8/24= .33)
	8      (24/8= 3)



